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he following:

IV Differentiate among t

1. Data, information and knowledge.

2. DSS and GDSS.

a|s



2. Write the TREE-INSERT procedure.

3. For each recurrence listed below, Use the iteration method to give a tight upper bound

on the solution to the recurrence using O-notation.

a) 0 n=0
s(n) =

c+s(n-1) n>0

516
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21- Online auctions where consumers can buy and sell with each other classified as
A.B2C
C.B2B

B. C2C
D. C2B

22- is software that helps employees electronically collaborate to accomplish structured
work tasks within knowledge-based business processes
A. Collaboration and Trading B. Content Management
C. Workflow Management D. Catalog Management
23 are professional employees such as financial and marketing analysts.
A. Knowledge workers B. Top managers.
C. Technical manager. D. Chief information officer.
24 oo involves both electronic business marketplaces and direct market links between
businesses
A. Business-to-Consumer (B2C) B. Business-to-Business (B2B)
C. Consumer-to-Consumer (C2C) D. None of the above.
25 is a process that helps customers find the specific product or service they want to
evaluate
A. Search Management B. Business-to-Business (B2B)
C. Content Management D. Workflow Management
Answer Table
Question 2(3(4(5/6|7,8(9(10{11(12/13/14/15/16/17|18{19(20|21|22(23/24|25
Answer
|
I11. Label the missing points of the following diagrams: (5 marks)
___Supplier .
4 Multisupplier [ Sugplier 2
TTotmTomTTmmT b Catalog | Supplier 1
MS Market 2. Find Products Corporate g ;
< i ] “7:, o O ! - y%
Catalog = | oo
B I O S
. 1 »| Order Form & i
SmaE B — Q|
sasasini. -— TTTTTTL | Availability 5%3 -
Employee Order Entry I Approval Workflow
i;t(;an?t L - Purchase Order
rocureme 5. e Workflow
B oo 4
Y
Futfillmant
* Shipping
- » Accounting
7. Order Completed | * Messaging
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Answer the following questions (50 Marks)

I. Write the scientific term for the following statements: (10 marks)
1. Data or information organized and processed to convey understanding. (ceerre )
2. A program designed to support a specific task or a business process. (cemee i )
3. A report that summarizes the previous day’s critical activities. (e )
4. Finding a good but not necessarily the best solution to a problem. G )
5. A report that automatically produced when a situation is unusual. (e )
6. Software used to screen data for errors prior to processing. )
7. An IS that uses computer technology to perform its intended tasks. (e )
8. A program or collection of programs that enable hardware to process data. T )
9. Simple database whose records have no relationship to one another. (coerrenieeeee - )
10. Allows decision makers to easily access and manipulate the DSS. (e )

I1. Choose the correct answer and write the letter in the following answers tables: (25 marks)
1- IS that connects two or more organizations and support supply chain management.

A. Transaction Processing System (TPS) B. Electronic Commerce Systems
C. Enterprise Resource Planning (ERP) D. Inter organizaticnal Information Systein
24 s is an example of departmental information systems.
A. System for processing payroll B. Credit card approval analysis
C. SAP D. Walmart
3- Virtually all paper-based systems for processing transactions are ..........
A. batch or real-time B. batch oriented
C. real-time D. None of the above
4- All the following are Characteristics of Valuable Information except ...........
A. reliable B. inaccurate’
C. timely D. verifiable
S5 is an example of Enterprise Resource Planning System (ERP).
A. System for processing payroll B. Credit card approval analysis
C. SAP D. All above
6. Building a database requires ....... types of design.
A. Two B. Three
C. Four D. None of the above
7- Image data can be represented by ...............
A. graphic pictures B. Moving images
C. Moving pictures D.Band C
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3. Forthesetof [1;4:;5:10:16;17:21] of keys, draw binary search trees of heights 2.

3.4.5, and 6.

4. Analvze the Counting Sort algorithm
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4- (a) For a reversible process. prove that: ' —C  =T(8°F/3ToV)*” /(82F /6V2)

P
where F is the Helmholtz fiee energy. Appiy this resuit to show that:
Cp — C‘v = R foran ideal gas. (5 points)

3 Pirr ( T7 . .
M If a=3aT”/V , k=56/V foracertain gas, where a, b are constants, obtain
the equation of state for such a gas. Verify that: oa=0kP. (5 points)

5-(a)-Derive the microcanonical distribution in phase space in the usual form:

P(R)=0(E-H)/XE,a) (5 points)

(b) Evaluate the volume T'(E, V) under the energy surface H=E for an ideal gas composed of
N monatomic molecules each of mass 12 enclosed in a volume ¥, whence prove the

correspondence @£, V) ¢«—> kT . (S points)
iav F 3 Qigg non : .
{a} For a canonical ensemble, show thatt— —== (—=1)"¢" where ¢ is the energy
3 anﬂ -
of a system belonging to the ensemble and Zis the partition function.
W Z-( 0.V} for ahypothetical system is given by
- NIN2
~ s . P /\" ( Zﬂ’. !1’(!/’ 14
ZeBV)y=(V =By 1 e

where a, b are constants, N is the number of molecules 1n the svstem each of mass m and V'is
the volume. determine the equation of state for such a systermn and identity it. (5 woints)

Y e TR e . -\
(b) Use the Maxwell-Boltzmann distribution of speeds to evaivaté the dispersion (5 K
where ¢ is the energy of a single molecule belonging to an idea] gas. (5 pointsj

With Best Wishes
M. Boghdadi
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6. How to Reference cells on other worksheets?....ovovveenerereennes

a. sheetName!cellReference b. "sheetName! c. cel!rqference.’sheetName
7. Which in the following is absolute cell...................
a.SAS2+8BS5 b. $A$2+BSS c. SA$2+BSS
8. To obtain the full name Ahmed Ali we use the formula......ccoeervvrrvvrrenrnenees
a.=Al & Bl b.=A1&" "& Bl c.=Al1&&B1
9. Calculate the minimum value in incomel........uevinnreenses
a. min(c2:¢7) b. = min{(c) ¢. min{c:¢)

10. In excel figure, we write the true if Ahmed has income and income2 greater than 200

............................

a. =AND(C2>100;D2>100) b.= C2>100 ¢. =If(C1>100;D1>100)
11.we can divided the data in excel into.......... esessnes

a. numeric, text, date b. numeric, text c.numeric,text,date, logic
12. The Excel function LOWER used to .....cocceveerunee.

a) converts text (o upper case
b) concatenate many values together
¢) converts text to lower case

13. How are data organized in a spreadsheet.................
a. Lines and spaces b. Lavers and planes ¢. Rows and columns

14. 1f vou press ........, the cell accepts your typing as its contents.
a. Enter b. Ctrl + Enter c. TAB

15. The cell reference for a range of cells that starts in cell B1 and goes over to column

G and down to row 10 is .............. .
a. GI1-G10 b. B1.G10 c¢. B1:G10
16. The following formula will not calculate anything......... irvesererene
a.=al+b3 b. al+b2 c.al*bh2
17. ANAME? error ., itreference t0.....ccoevrvenrecvecnservnnnne

a. used a cell reference in the formula that is not formed correctly
b. Usually the result of trying to do math with a textual value
¢. Cell is too narrow to display the results of the formula.

18. If you Try to divide by zero, it error is appear.......cceeeevernns




8- ...l is a field or set of fields that uniquely identifies the record.
A. Key B. Attribute
C. Entity D. None of the above *
O is a method used in GDSS to make decision by a vote, but everyone's opinions taken
into account.
A. Delphi approach B. Group consensus
C. Nominal group technique D.Aand C

10- It isn’t necessary in Batch-Processing with Random-Access File Updating to ...............
A. Sort the transaction file in the same order as the master file.
B. Generate a new master file.
C. backup of the master file.

D. A and B.
11- Semi-structured decision ............
A. can be totally programmed. B. can be partially programmed.
C. requires human judgment. D.Band C.
12- Director of ISD called the ...........
A. technical manager. B. chief information officer.
C. knowledge workers. D. top managers.
13- . is an example of Expert System (ES).
A. System for processing payroll B. Walmart
C. Credit card approval analysis D. Microsoft Office
14-.......... gives certain information at a manager’s request.
A. Scheduled reports B. Key-indicator report
C. Demand report D. Exception report
I5- is a collection of related records.
A. Field B. Record
C. File D. Database
16-0iinn, is the value of an attribute
A. Data item B. Key
C. File D. Entity
17- e is a diagram of data entities and their relationships.
A. Entity-relationship B. Data model
C. Database D. Hierarchy of data
18- ..l is an example of single user database.
A. Oracle B. IBM
C. Sybase D. InfoPath
19-......... is software that recognizes and intercepts credit card number formats.
A. Oracle B. Network sniffers
C. Sybase D. InfoPath

20- Distribution marketplaces unite major suppliers who combine their product catalogs to attract a
larger audience of buyers classified as
A. One to Many B. Some to Many
C. Many to One D. Many to Some

205
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8. Compute the total income for every one................. ceseerserees

a. Analyze> Descriptive statistics> frequencies
b. Transform> compute variables ’
¢. Transform> recode into different variable.

9. Cluster the people ......... rerernessinsesnnes

a. Analyze> Classify >K-mean cluster
b. Analyze >Classify>two step cluster
¢. ‘Transform> cluster.

10. Compute how many everyone has income>300..................
a. Analyvze> Descriptive statistics> frequencies
b. Analyze >Classify>two step cluster
¢. Data> select cases

11. Mark people have income>400 ........ccoeverevruvireenen.
a. Data> select cases
b. Transform> compute variables
¢. Transform> recode into different variable.

12. Plot incomel as pio chartu....vccecnnnnnnenee

a. Analyze> Descriptive statistics> frequencies
b. Transform> compute variables
¢. Transform> recode into different variable.

13. Add to evervone incomel+100 in new variable .................
a. Analyze> Descriptive statistics> frequencies
b. Transform> compute variables
c. Transform> recode into different variable.

Q1.b In the following SPSS output table:

Mann-Whitney Test

Ranks
bare i Mean Rank Sum of Ranks
[ RFI I 4534 ARNO A1 2708020 Q0
T 44815 229098 00
Tatal 1oOn
lest Statistics™
BrAl_1
FAG D vt e WA D 000
TN [aIatal
- &oner
L E T TP BN IR YO § Goa

S GELuping CUanab b urfhan
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Answer the following questions (50 Marks)
Question 1: (20 Marks)
Complete the following statements from the given table.
Note: each answer may be used several times.
1 O(n) 6 Average 11 Worst 16 heap
2 Q(nlg n) 7 red 12 Alir2} 17 O(lg n)
3 Unit 8 2 lg(n + 1) 13 o(n’) 18 Q
4 n/2 9 key 14 O(nlgn) 19 right
5 black 10 Al2i+1] 15 ® 120 0
a. All reasonable instructions take ............. time. { )
b, el case Provides the expected running time. { )
c. f(n)is....... (g(n)) if there exist positive constants ¢ and ng such that f(n) <c - g(n) forallnzn, ( )
d A.......... can be seen as a complete binary tree. « )
e. To represent a complete binary tree as an array, the parent of node iis ......... ()
f. Each ofthe n - 1 calls to Heapify() takes ........ time. ( )
g. Quicksort sorts.......... in the average case. ( )
h. In RB tree, every path from node to descendent leaf contains the same number of ..... nodes )
i. The expected total time of Bucket Sortis ............... « )
j. The median in a set of n elements is .................... the order statistic . ()
k. The worst case of Merge sort is ............ _ ()
. InBST,............. is an identifying field inducing a total ordering. «( )
m. Any decision tree that sorts n elements has height ......... ( )
n. InBST,ifxhasa......... subtree then successor is minimum node in it. ()
0. All comparison sorts are ..................... ()
p. BuildHeap() takes ........ time ¢ )
q. A red-black tree with n internal nodes has heighth<.................. )
r. The worst case of Insertion sort is ............ « )
s. The total time taken by HeapSort() is ............... ( )
t. radix sort based on counting sort takes ............. time. ( )

1]6
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* No. of pages : 2- No.of questions: 4

Answer the Following Questions:

Question no. 1 (10 points)

a) Convert the tollowing numbers with the indicated base to decimal:
i- (143.21)s 1i- (257.53)

b) Convert the decimal number 425.25 to binary by two ways:
1- Convert it directly to binary.

ii- Convert it first to hexadecimal and then from hexadecimal to binary.

Question no. 2 (10 points)

a) Given the following unsigned numbers:
A =81 ., B=45
i- Convert A and B to binary.
1i- Using the 2's complement method, perform the following subtraction processes:
- A-B 2- B-A
Convert the results to decimal and check that they are correct.
b) Given the following signed decimal numbers:
A=+35 B=+23 C=-53
i- Determne the representation of A, B and C by using the signed 2's complement
system with 8 digit duration .
1i- Perform the following addition processes:
1- A+B 2- B+C

Convert the results to decimal and check that they are correct.
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4-a) Solve the following system:

8x —3y+ 2z =20

6x + 3y + 12z =35 (Note: let x(9) = (0,0,0))

4x + 11y —z = 33

By using Gauss Seide! method (using three iterations only).

b) Use the suitable formula to determine approximation that will

X fix) 1)
1 7.989
1.1 8.403
1.2 8.781
13 | 9129

5) Solve the following equation x® + 4x* - 10 =0V x € [1,2]
a) Using fixed point iteration [NOTE: using four iteration].
b) Using Aitken acceleration.

1 . ..
6-a) In order to compute the number e a>0 without division we can

solve the equation f(x) = i —a = 0, using Newton's method. Find the

error in x,,,; and show that the method is quadratically convergent.

: 1, '
b) Calculate an approximate value for > using the above Newton's

method.

GOOD LUCK

DR.Fatma Abd Ei -moneim
DR. Mohamed A. Hussien
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Dept. of Elect. Eng. Faculty of Sciences

Faculty of Eng. ~ ~ Course: Logic Circuits
University of Assiut ‘ 3" Year Students

. Semester — Final Exam. Time: 2 hours
2016/2017- Jan. 2017 Marks: 50

* No. of pages : 2- No.of questions: 4

Answer the Following Questions:

Question no. 1 (10 points)

a) Convert the following numbers with the indicated base to decimal:
i- (143.21)s 1i- (257.53)s

b) Convert the decimal number 425.25 to binary by two ways:
1- Convert it directly to binary.

ii- Convert it first to hexadecimal and then from hexadecimal to binary.

Question no. 2 (10 points)

a) Given the following unsigned numbers:
A =81 ,  B=45
i- Convert A and B to binary.
ii- Using the 2's complement method, perform the following subtraction processes:
- A-B 2-B-A
Convert the results to decimal and check that they are correct.
b) Given the following signed decimal numbers:
A=+35 B=+23 C=-53
i- Determne the representation of A, B and C by using the signed 2's complement
system with 8 digit duration .
ii- Perform the following addition processes:
1- A+B 2- B+C

Convert the results to decimal and check that they are correct.



I) Why we use this test?

report:

02. Choose the correct answer (20 marks)

C . B A
income income” second name first Name
567 234 Mohamed Ahmed
678 345 Hany Ali
6557 567 fahmy Omar
53 557 taha Hanaa
76 64 kamal Heba
39 32 ahmed Soha
1.The output of the following formula =8+8%2-2"2/2=_..........cviirerrurrerrnnn
4. 98 b.22 c.32
2. for the data in “figure 1 “the output of formula sum(D2:C2;5)=...........cccivennin
.a. 805 b. 193 ¢.390

3. for the data in “figure 1 “the output of formula
=MID(A2,2,2)&RIGHT(B2,1)=......ccocvenrnrnnenn

a. hmd b.memo ¢. hmm

4. for the data in “figure 1 “the output of formula= sum(C:C) equal .......cccuvveveeurrenn.
a.76 b. 0 c. 89

5. For the data in “figure 1 “the output of formula= sum(2:2) equal......c.ceerevcereureen.

a. 1607 b. 1565 c. 1230



Faculty of Science. Final Exam for Level ey
Mathematics l)Cpt Subiect:Mathematical o

Subject: Computer ot
- and Statistical i
Time: 2 Hours . .
Packages. MC300 ’

Answer the Following Questions: (70 marks)

Qla. Choose the correct answer (30 marks)

1. Ifweadd name as variable select its type as..................
a. numeric b. nominal ¢. string

2. We can see all definition about any variable from........cccccvvcvvvnenn.
a. Transform > data structure

" b. Data > variable properties
¢. Data > Define Data

3. Sort names variable from A t0 Z .coonveevveevineivcnneennne

a. data > sort cases b. data > sort variables c. data>sorting
4. No correlation between variables when R ...................

a.=0 b. >0 c. <0
S. Select the random sample .....coovevvivurnenne

a. Analyze> Descriptive statistics> frequencies
b. Data> select cases
¢. Transform> recode into different variable.

6. To transfer the nonparametric variables X to parametric you will
calculate................ '

a. log x b. x+1 ¢. norm Xx

Mames incomel | income2 |  tax
1 fatme 456.00 34500 54.00
2 Ali 564.00 456.00 65.00
3 Ahimed 567.00 566.00 67.00
B Sara 367.00 566.00 5400
& Adel 5867.00 45600 4500
& sahar 675.00 34500 B7 00

7. Calculate the mean of the incomel variable. .............

d. Analyze> Descriptive statistics> frequencies
¢. Transform> compute variables
- f. Transform> recode into different variable.




University: Assiut Databases , Time: 2 Hours
Lot L Faculty: Science Final Fxam 16/17 31/12/206 ||
sl Dept: Math. 4,357 Level 3
{  Question 1: Choose the correct answer (10 points). ’

I- Which of these statements is true:
A) A Database is a model of structures of Reality
B) A Database Management System is a collection of software that supports the definition and use of a
Database

C ) A Databasc is a means of communicating about, analyzing and managing the part of Reality it models
D) All of the above

2- A Database Management System supports the following interfaces:
A) Data Definition Language and ata Manipulation Language
B) Data Import Language and Data Export Language
C) XML and XSL
D) None of the above

3~ A Database Management System always provides support for

A) Persistent data storage, multiple user access, security, backup, recovery, data independence
B) Real-time query response

C) Data mining, data warchousing }
D) All of the above PERSON
4-
A) For cach value of COLLEGEDEGREE there is at most one instance of PERSON
B) For each instance of PERSON there is at most one value of COLLEGEDEGREE COLLEGE
() For each instance of PERSON there may be multiple values of COLLEGEDEGREE DEGREE
D) All of the above
i - PERSON COMPANY
A) Incorrect syntax
B) TAXID has a multi-valued entity types \
C) For cach value of TAXID there Is at most one instance of PERSON or COMPANY @
D) For each value of TAXID there is at most one instance of PERSON and COMPANY -

Question 2: 10 points.

1. What is the difference between Database Management System (DBMS) and Database system?
2. List two of the advantages of using the DBMS approach.

Question 3: 10 points

Consider the schema for the three relations below.

Suppliers (sid, sname, address) Parts (pid, pname, color) Catalog (sid, pid, cost)
Write the following query in SQL:

1: Find the distinct pnames of all parts sold (by some supplier) for less than 5.50

2: Find the sids of suppliers who supply a red part or a green part.

3: Find the names of suppliers who supply some red part.

4: Find the price of the least expensive red part.

5: For every supplier, print the name of the supplier and the total number of parts that he or she
supplies.

Question 4: 10 points

UPS prides itself on having up-to-date information on the processing and current location of each shlpped
item. To do this, UPS relies on a company-wide information system. Shipped items are the heart of the UPS
product tracking information system. Shipped items can be characterized by item number (unique), weight,
dimensions, insurance amount, destination, and final delivery date. Shipped items are received into the UPS
system at a single retail center. Retail centers are characterized by their type, uniquelD, and address. Shipped
items make their way to their destination via one or more standard UPS transportation events (i.e., flights,
truck deliveries). These transportation events are characterized by a unique scheduleNumber, a type (e.g,
flight, truck), and a delivery Route. Create an Entity Relationship diagram that captures this information
about the UPS system. Be certain to indicate identifiers and cardinality constraints.



Question 2: (16 Marks)

1. Show if the array with values [23: 17: 14; 6: 13; 10; 1; 5: 7; 12] a max-heap or not?
: . _

2. IMustrate the Partition(A,p,r)on A={5,3,2.6.4,1,3.7}.

216
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Question 3: (14 Marks)
1.

Draw the red-black tree that results after TREE-INSERT is called on the tree in the
following figure with key 36. If the inserted node is colored red, is the resulting tree a

red-black tree? What if it is colored black?




Question no. 3 (15 points)

’
a) By applying the Boolean algebra, reduce the following logic functions to the

minimum number of literals:

FEXY)=(X+Y )Y (X' +Y)

i-FOW,X,Y,2)=WXYZ+WXZ+WXYZ
b) Given the following Boolean function:

F(X.Y)=XY+XY

i- Find the dual of F.

ii- Prove that the dual of F is equal to its complement.

Question no. 4 (15 points)

a) Using NAND gates only, implement the following binary logic functions:
i- F(A,B)=A+B
- F(A,B)=A.B
iii- F(A) = A
b) Verify that the NOR operator is not associative.
¢) Show how you can design and implement a single exclusive-OR gate with three

inputs.

.G il il e ALY gl

il o ddess 0



Assiut University Operating System 1

Faculty of Science , Third Level (MC351)
Mathematics Department Time: 2 hours
Term Exam January 2016

Answer the following questions (S0 Marks) !

Question 1: Answer the following questions (10 Marks)

1- What is an Operating System?

2- Computer system can be divided into four components: What are they?
3-What does the kernel mean?

4- What is the bootstrap program?

5-What is the purpose of the common bus?

Question 2: Answer the following questions? (10 Marks)

1- What are the advantages of the parallel systems?

2- Mention and arrange the storage devices according to their size?

3- What is the difference between the types of tightly-coupled systems?

4- What is the difference between Asymmetric clustering and Symmetric clustermg‘?
5- What is a process?

Question 3: Answer the following questions? (10 Marks)

1- Compare between single-threaded process and multi-threaded process? (2 marks)
2-The operating system is responsible for some activities in connection with process
management, what are they? (4 marks)

3-What is I/0 subsystem responsible for? (4 marks)

Question 4: Answer the following questions? (10 Marks)
1-What are the most common APIs? (5 marks)
2- What are the general methods used to pass parameters to the OS? (5 marks)

Question 5: Answer the following questions? (10 Marks)

1-What is debugging? (2 marks)

2-What is the difference between core dump file and crash dump file? (4 marks)
3- Draw a diagram of process state? (4 marks)

Dr. Tarik Ibrahim



Question 5: 10 points

Design a database to keep track of information for an art museum. Assume that the following
requirements were collected:

The museum has a collection of ART_OBJECTS. Each ART _ OBJECT has a unique IdNo, an Artist
(if known), a Year (when it was created), a Title, and a Description.

The art objects are categorized in several ways, as discussed below.

ART_OBJECTS are categorized based on their type. There are three main types: PAINTING,
SCULPTURE, and STATUE, plus another type called OTHER to accommodate objects that do
not fall into one of the three main types.

A PAINTING has a PaintType (oil, watercolor, etc.), material on which it is DrawnOn (paper,
canvas, wood, etc.), and Style (modem, abstract, erc.).

A SCULPTURE or a STATUE has a Material from which it was created (wood, stone, etc.),
Height, Weight, and Style.

An art object in the OTHER category has a Type (print, photo, etc.) and Style.
ART_OBJECTS are also categorized as PERMANENT_COLLECTION, which are owned by
the museum (these have information on the DateAcquired, whether it is OnDisplay or stored, and
Cost) or BORROWED, which has information as DateBorrowed, and DateRetumed.
ART_OBIJECTS also have information describing their country/culture using information on
country/culture of Origin (Italian, Egyptian, American, Indian, etc.) and Epoch (Renaissance,
Modem, Ancient, etc.).

The museum keeps track of ARTIST'S information, if known: Name, DateBom (if known),
DateDied (if not living), CountryOfOrigin, Epoch, MainStyle, and Description. The Name is
assumed to be unique.

Different EXHIBITIONS occur, each having a Name, StartDate, and EndDate. EXHIBITIONS
are related to all the art objects that were on display during the exhibition.

Draw an EER diagram for this application. Discuss any assumptions you made, and that justify your
EER design choices.
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Answer five questions only :- (10 marks for every question)

1) If the function g € Cla,b|and g(x) € [a,b]V x € [a,b] and g'(x)
exist with|g'(x)| <k <1 V x € |a, b] prove that

a) the sequence defined by P, = g(P,_,),n = 1 will converge to the
unique fixed point P,
b) IPn+1 - Pn' < knlpl - P()'

Q) [P, — Pl £ == |Py = Py foralln > 1

2-a) Derive simpson's composite formula of order two (n = 2) to

approximate the integral [ = fab f(x)dx and prove that the error of the

_ h*(b-a)

o FO () where x, < u < x,

method is E(f) =

b)Determine the value of n and h needed to approximate ff e”* dx with

error less than 107 using the formula in (a).

3-a) Derive Lagrange interpolation formula of degree n and prove that
D ()

the error of the method is E(f) = D

Tieo(x —x;), %y < T <Xy

b) For the given function f(x) =v1+x let x,=0 , x;, =06,
x, = 0.9 and x5 = 1.6 construct the suitable interpolation polynomial to
approximate f(1.1) and find the actual error ..

48,50 Gald B elliad oy
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3. Batch Processing with Sequential File Updating and with Random-Access File
Updating

4. One to Many and Many to One e-Commerce Marketplaces.

=== With My Best Wishes ===
Dr. Dalia Nashat
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